
MATHS

BOOKS - NIKITA MATHS (HINGLISH)

DEFINITE INTEGRAL

Multiple Choice Questions

1. 

A. 

B. 

C. 55

∫
3

2

x2dx

211

5

−211

5

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_0OWJJ2UuNCRA


D. -55

Answer: A

Watch Video Solution

2. Which of the following is true ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
1

0
√x  dx =

2

3

∫
1

0
√x  dx =

−2

3

∫
1

0
√x  dx =

3

2

∫
1

0
√x  dx =

−3

2

https://dl.doubtnut.com/l/_0OWJJ2UuNCRA
https://dl.doubtnut.com/l/_kMUyGbToRs3b


3. 

A. 1

B. -2

C. 2

D. -1

Answer: C

Watch Video Solution

∫
9

4

=
dx

√x

4. ∫
1

0
dx =

x2 + 3x + 2

√x

https://dl.doubtnut.com/l/_kMUyGbToRs3b
https://dl.doubtnut.com/l/_IMIU6oQWOACS
https://dl.doubtnut.com/l/_c3J9ts6jicMP


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

8

5

16

5

32

5

64
5

5. 

A. 

B. 

C. 

∫
1

0
=

dx

√1 + x√x

(√2 − 1)
2

3

(√2 + 1)
2

3

(√2 − 1)
4
3

https://dl.doubtnut.com/l/_c3J9ts6jicMP
https://dl.doubtnut.com/l/_8jHFSlq7tKki


D. 

Answer: C

Watch Video Solution

(√2 + 1)
4
3

6. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
5

3
=

dx

√x + 4 + √x − 2

(28 − 3√3 − 7√7)
1

9

(28 − 3√3 + 7√7)
1

9

(28 + 3√3 − 7√7)
1

9

(28 + 3√3 + 7√7)
1

9

https://dl.doubtnut.com/l/_8jHFSlq7tKki
https://dl.doubtnut.com/l/_olHz4XrmJL7C


7. if , then what is  equal

to ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = a + bx + cx2 ∫
1

0

f(x)dx

f(0) + 4f( ) + f(1)
1

2

(f(0) + 4f( ) + f(1))
1

6

1

2

(f(0) + 4f( ) + f(1))
1

3

1

2

(f(0) + 4f( ) + f(1))
1

2

1

2

8. If ∫
a

0
(2x + 1)dx = 2,  then a =

https://dl.doubtnut.com/l/_olHz4XrmJL7C
https://dl.doubtnut.com/l/_jvMXODUcvA9Q
https://dl.doubtnut.com/l/_uz0iFuppLwGk


A. 1, 2

B. 

C. 

D. 

Answer: C

Watch Video Solution

−1, 2

1, − 2

−1, − 2

9. If 
find the value of 

A. 0

B. -2

C. 2

∫
a

0
3x2dx = 8, a.

https://dl.doubtnut.com/l/_uz0iFuppLwGk
https://dl.doubtnut.com/l/_HSWLlzRqaQQi


D. 

Answer: C

Watch Video Solution

±2

10. If 

A. 

B. 

C. 2

D. 

Answer: D

Watch Video Solution

∫
1

0
(3x2 + 2x + α)dx = 0,  then α =

1

2

−1

2

−2

https://dl.doubtnut.com/l/_HSWLlzRqaQQi
https://dl.doubtnut.com/l/_segbQJuSaNdB


11. If  then the value of  is

A. 

B. 4

C. 

D. 2

Answer: D

Watch Video Solution

∫
a

1

(3x2 + 2x + 1)dx = 11 a

−4

−2

12. If ∫
a

0
4x3dx = 16, and a > 0,  then a =

https://dl.doubtnut.com/l/_segbQJuSaNdB
https://dl.doubtnut.com/l/_tXlfle0e6VZ1
https://dl.doubtnut.com/l/_9J0ZnDxeLH7t


A. 0

B. -2

C. 2

D. 

Answer: C

Watch Video Solution

±2

13. If

find


A. a = 1, b = -1

∫
b

a

x3dx = 0, andI f∫
b

a

x2dx = , f i n dr e a lv a l u e so fa.
2

3

aandb.

https://dl.doubtnut.com/l/_9J0ZnDxeLH7t
https://dl.doubtnut.com/l/_PjjmGijA51Ky


B. 

C. 

D. 

Answer: C

Watch Video Solution

a = 0, b = 1

a = − 1, b = 1

a = − 1, b = 0

14. The value of , where a,b,c,k

are constants, depends only on. . . .

A. 

B. 

C. 

∫
3

− 3
(ax + bx3 + cx + k)dx

a and k

a and b

a, b and c

https://dl.doubtnut.com/l/_PjjmGijA51Ky
https://dl.doubtnut.com/l/_SQRLQx2BfRBO


D. 

Answer: D

Watch Video Solution

k

15. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
3

− 2
=

dx

x + 5

log( )
2

3

log( )
4
3

log( )
8

3

)
log 16

3

https://dl.doubtnut.com/l/_SQRLQx2BfRBO
https://dl.doubtnut.com/l/_VKmL9RfePRlx


16. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
2

1

=
dx

2x + 5

log( )
1

2

5

7

log( )
1

2
7
5

2 log( )
5

7

2 log( )
7
5

17. ∫
2

4

dx =
x2 + x

√2x + 1

https://dl.doubtnut.com/l/_VKmL9RfePRlx
https://dl.doubtnut.com/l/_IzywIvIJ3KdF
https://dl.doubtnut.com/l/_b1QvXHZ8vVaC


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

− √5
228

5

+ √5
228

5

− √5
57
5

√5
57
5

18. 

A. 0

B. 1

C. 

∫
π / 4

0

dx

1 + x2

tan− 1( )
π

4

https://dl.doubtnut.com/l/_b1QvXHZ8vVaC
https://dl.doubtnut.com/l/_9WB2smWbW8fV


D. 

Answer: C

Watch Video Solution

−tan− 1( )
π

4

19. if  then find the value of 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
k

0
=

dx

2 + 8x2

π

16
k

1

2

−1

2

π

2

−π

2

https://dl.doubtnut.com/l/_9WB2smWbW8fV
https://dl.doubtnut.com/l/_HPLJIb36mgNg


20. Evaluate the following definite integral:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
1

0

dx
1

2x2 + x + 1

tan− 1( )
1

√7

√7
6

tan− 1( )
1

√7

√7
3

tan− 1( )
2

√7

√7

6

tan− 1( )
2

√7

√7

3

https://dl.doubtnut.com/l/_HPLJIb36mgNg
https://dl.doubtnut.com/l/_2KkrQ8pkOetM


21. Evaluate the following : 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
1

− 2

dx

x2 + 4x + 13

π

4

π

3

π

6

π

12

22. ∫
2

0

=
dx

4 + x − x2

https://dl.doubtnut.com/l/_5OnaI0V23lop
https://dl.doubtnut.com/l/_eJqNyAPgCekR


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

log( )
1

2√17

5 + √17

5 − √17

log( )
1

2√17

5 − √17

5 + √17

log( )
1

√17

5 + √17

5 − √17

log( )
1

√17

5 − √17

5 + √17

23. 

A. 

B. 

∫
a

0

dx

(ax + a2 − x2)

log( )
−1

a√5

7 + 3√5

2

log( )
1

a√5

7 + 3√5

2

https://dl.doubtnut.com/l/_eJqNyAPgCekR
https://dl.doubtnut.com/l/_7Fr5UK5vlSim


C. 

D. 

Answer: B

Watch Video Solution

log( )
−2

a√5

7 + 3√5

2

log( )
2

a√5

7 + 3√5

2

24. 

A. 

B. 

C. 

D. 

∫
3

2
dx =

x

x2 − 1

log( )
1

2

3

8

log( )
1

2

8

3

log( )
1

2

3

4

log( )
1

2
4
3

https://dl.doubtnut.com/l/_7Fr5UK5vlSim
https://dl.doubtnut.com/l/_WpRDq4DBxN1J


Answer: B

Watch Video Solution

25. Evaluate the following : 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
2

1

dx

x2 + 6x + 5

log( )
1

4

9

7

log( )
1

4
7
9

log( )
1

2

3

7

log( )
1

2
7
3

https://dl.doubtnut.com/l/_WpRDq4DBxN1J
https://dl.doubtnut.com/l/_jwhGoashdR7p


26. 

A. 

B. 

C. 

D. 0

Answer: A

Watch Video Solution

∫
2

0

dx

√4 − x2 = ?

π

2

3π
2

π

27. 

A. 

∫
2

0

dx

√4 − x2 = ?

π

2

https://dl.doubtnut.com/l/_acrEU8ov3iXc
https://dl.doubtnut.com/l/_jMCEJLJpieqa


B. 

C. 

D. 

Answer: C

Watch Video Solution

3π

2

π

3π

28. 

A. 

B. 

C. 

D. 0

∫
a

0

dx

√ax − x2

π

2

π

4

π

https://dl.doubtnut.com/l/_jMCEJLJpieqa
https://dl.doubtnut.com/l/_I9jtQCaOOVIu


Answer: C

Watch Video Solution

29. Evaluate the following : 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
1

0
dx

1

√3 + 2x − x2

π

4

π

2

π

6

π

12

https://dl.doubtnut.com/l/_I9jtQCaOOVIu
https://dl.doubtnut.com/l/_boE1YV48hGOW


30. Evaluate :  

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(i)∫
4

0

dx

√x2 + 2x + 3
(ii)

dx

(1 + x + x2)

log( )
1 + √3

5 + 3√3

log( )
5 + 3√3

1 + √3

log( )
1 + √3

5 + √3

log( )
5 + √3

1 + √3

31. Evaluate: ∫
2

0

dx
5x + 1

x2 + 4

https://dl.doubtnut.com/l/_boE1YV48hGOW
https://dl.doubtnut.com/l/_awYmu6O2eXjE
https://dl.doubtnut.com/l/_jYe9RuPTCY7o


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

log 2 −
5

2

π

4

log 2 +
5

2

π

4

log 2 −
5

2

π

8

log 2 +
5

2

π

8

32. 

A. 

B. 

C. 

∫
1

0
dx =

x2

x2 + 1

2 −
π

4

2 +
π

4

1 −
π

4

https://dl.doubtnut.com/l/_jYe9RuPTCY7o
https://dl.doubtnut.com/l/_Kt9w6HHGTuM6


D. 

Answer: C

Watch Video Solution

1 +
π

4

33. Evaluate the following : 

A. 

B. 

C. 

D. 

Answer: D

∫
1

0
dx

x2 − 2

x2 + 1

1 +
π

4

1 −
π

4

1 +
3π

4

1 −
3π

4

https://dl.doubtnut.com/l/_Kt9w6HHGTuM6
https://dl.doubtnut.com/l/_csYsC96TvPll


Watch Video Solution

34. Evaluate the following : 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
1

0
dx

1 − x2

1 + x2

− 1
π

2

+ 1
π

2

− 1
π

4

+ 1
π

4

https://dl.doubtnut.com/l/_csYsC96TvPll
https://dl.doubtnut.com/l/_duOo1gyoMjth


35. Evaluate the following : 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
2

1
dx

x2

x2 + 4x + 3

1 − 2 log( ) + log( )
8

10

5

2

6

5

1 + 2 log( ) − log( )
8

10

5

2

6

5

1 + 2 log( ) + log( )
8

10

5

2

6

5

1 − 2 log( ) − log( )
8

10

5

2

6

5

36. If  thenI1∫
2

1
and I1 = ∫

2

1

dx

√1 + x2

dx

x

https://dl.doubtnut.com/l/_gCTI9AJ3gdzP
https://dl.doubtnut.com/l/_6EWnYGc3Y1kE


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

I1 > I2

I1 < I2

I1 = I2

I1 > 2I2

37. If  then

 is equal to

A. 1

B. 2

g(1) = g(2),

∫
2

1
[f{g(x)}] − 1

f' {g(x)}g' (x)dx

https://dl.doubtnut.com/l/_6EWnYGc3Y1kE
https://dl.doubtnut.com/l/_FntNiZhkQ9QZ


C. 0

D. 

Answer: C

Watch Video Solution

−1

38. 

A. 

B. 

C. 

D. 

Answer: D

∫
1

0
=

dx

[ax + (1 − x)b]2

a

b

b

a

ab

1

ab

https://dl.doubtnut.com/l/_FntNiZhkQ9QZ
https://dl.doubtnut.com/l/_LNeHUM7LclNV


Watch Video Solution

39. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
9

0

dx

1 + √x

6 − 4 log 2

3 − 4 log 2

6 − 2 log 2

3 − 2lo2

40. ∫
1

0

√ dx
1 − x

1 + x

https://dl.doubtnut.com/l/_LNeHUM7LclNV
https://dl.doubtnut.com/l/_jSfrPMptwpP1
https://dl.doubtnut.com/l/_aCxPl4vjOrtK


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+ 1
π

2

− 1
π

2

+ 2
π

2

− 2
π

2

41. 

A. 

B. 

C. 

∫
1 / 2

0

=
dx

(1 − 2x2)√1 − x2

log(2 + √3)
−1

2

log(2 + √3)
1

2

log(2 + √3)
−1

4

https://dl.doubtnut.com/l/_aCxPl4vjOrtK
https://dl.doubtnut.com/l/_06kKZjNrS87v


D. 

Answer: B

Watch Video Solution

log(2 + √3)
1

4

42. Evaluate:


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
1

0

x√ dx
1 − x2

1 + x2

+
π

4

1

2

−
π

4

1

2

+
π

2

1

2

−
π

2

1

2

https://dl.doubtnut.com/l/_06kKZjNrS87v
https://dl.doubtnut.com/l/_P6werhfddVlw


Watch Video Solution

43. If
 
 find
 the value of

integral 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
a

0
√xdx = 2a∫

π / 2

0
sin3 xdx

∫
a+ 1

a

xdx.

,
−1

2

−9

2

,
1

2

9

2

,
−1

2

9

2

,
1

2

−9

2

https://dl.doubtnut.com/l/_P6werhfddVlw
https://dl.doubtnut.com/l/_JgSjCUHsHHuw


44. 

A. 0

B. 1

C. 2

D. 3

Answer: C

Watch Video Solution

∫
π / 2

0
dx =

(sinx + cos x)
2

√1 + sin 2x

45. The correct evalution of  is

A. 

∫
π / 2

0

sinx sin 2xdx

4
3

https://dl.doubtnut.com/l/_CBDHvLgQdXLg
https://dl.doubtnut.com/l/_q45umaNyFb0d


B. 

C. 

D. 

Answer: D

Watch Video Solution

1

3

3

4

2

3

46. Evaluate the following : 

A. 

B. 

C. 

∫
π / 4

0

sin 3x sin 2xdx

3√2

5

2√2

5

3

10√2

https://dl.doubtnut.com/l/_q45umaNyFb0d
https://dl.doubtnut.com/l/_tSnqrdTAn1kE


D. 

Answer: D

Watch Video Solution

3

5√2

47. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π / 2

0

cos2 x  dx =

3π

4

π

4

3π

2

π

2

https://dl.doubtnut.com/l/_tSnqrdTAn1kE
https://dl.doubtnut.com/l/_ErnWao9Nc8AU


48. 

then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

IfI = ∫
π / 4

0

sin2 x  dx and J = ∫
π / 4

0

cos2 x  dx.

I = J

I < J

I > J

I + J =
π

4

49. Evaluate :
∫
π / 2

0

(a2 cos2 x + b2 sin2 x)dx

https://dl.doubtnut.com/l/_ErnWao9Nc8AU
https://dl.doubtnut.com/l/_1PLrOEVQKg8J
https://dl.doubtnut.com/l/_I1l0IBcbDM7u


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(a − b)
π

2

(a + b)
π

2

(a − b)
π

4

(a + b)
π

4

50. Evaluate :


A. 

B. 

C. 

∫ (tanx + cot x)2
dx

π

4

π

3

−2

√3

2

√3

−1

√3

https://dl.doubtnut.com/l/_I1l0IBcbDM7u
https://dl.doubtnut.com/l/_BGbFdPLxICzC


D. 

Answer: A

Watch Video Solution

1

√3

51. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
2π

0

∣∣sin3 θ∣∣dθ

1

3

5

3

2

3

4
3

https://dl.doubtnut.com/l/_BGbFdPLxICzC
https://dl.doubtnut.com/l/_lJvMTRJQfFMv


52. Evaluate :  

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(i)∫
π / 2

0

cos3 xdx (ii)∫
π / 2

0

sin4 xdx

2

3

5

6

−2

3

−5

6

53. ∫
π / 2

0

sin4 x  dx =

https://dl.doubtnut.com/l/_lJvMTRJQfFMv
https://dl.doubtnut.com/l/_BRzbM5XvPw3w
https://dl.doubtnut.com/l/_jm0oyQhGsIey


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3π

8

3π

16

3π

3

3π

32

54. 

A. 

B. 

C. 

∫
π / 2

0

cos5 x  dx =

8π

15

5π

32

8

15

https://dl.doubtnut.com/l/_jm0oyQhGsIey
https://dl.doubtnut.com/l/_GOjT1vgtGZwI


D. 

Answer: C

Watch Video Solution

5

32

55. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π / 4

0

tan2 x  dx =

1 −
π

4

1 −
π

2

2 −
π

4

2 −
π

2

https://dl.doubtnut.com/l/_GOjT1vgtGZwI
https://dl.doubtnut.com/l/_RqGEQV9aklut


56. Evaluate:
 
 (ii)

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

∫
π / 4

0
√1 + sin 2xdx

∫
π / 4

0
√1 − sin 2xdx

57. Evaluate:
∫
π / 2

π / 4
√1 − sin 2xdx

https://dl.doubtnut.com/l/_RqGEQV9aklut
https://dl.doubtnut.com/l/_RIaQmjPjxFqp
https://dl.doubtnut.com/l/_yzpznYEYZlsP


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1 − 2√2

1 + 2√2

1 − √2

1 + √2

58. 

A. 

B. 

C. 

∫
π / 2

0
√1 − cos x  dx =

√ ^ (2) − 2

√2 + 2

2√2 − 2

https://dl.doubtnut.com/l/_yzpznYEYZlsP
https://dl.doubtnut.com/l/_KWxh1hnuCSEI


D. 

Answer: C

Watch Video Solution

2√2 + 2

59. 

A. 0

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π / 2

0

 dx =
sinx + cos x

√1 + sin 2x

π

2π

π

2

https://dl.doubtnut.com/l/_KWxh1hnuCSEI
https://dl.doubtnut.com/l/_3fA64N3u8RVK


60. 

A. 0

B. 1

C. 2

D. 

Answer: D

Watch Video Solution

∫
π

0
=

dx

1 − sinx

−2

61. ∫
π / 4

−π / 4

=
dx

1 + sinx

https://dl.doubtnut.com/l/_3fA64N3u8RVK
https://dl.doubtnut.com/l/_en0OdgQETRHB
https://dl.doubtnut.com/l/_skkNSlwuTy9l


A. 

B. 

C. 

D. 2

Answer: D

Watch Video Solution

2 − √2

2 + √2

√2

62. 

A. 2

B. 

C. 

∫
π / 4

−π / 4
=

dx

1 − sinx

−2

√2

https://dl.doubtnut.com/l/_skkNSlwuTy9l
https://dl.doubtnut.com/l/_2OgJOHxt4zkO


D. 

Answer: A

Watch Video Solution

−√2

63. 

A. 1

B. 

C. 2

D. 

Answer: A

Watch Video Solution

∫
π / 2

0

dx

1 + cos x

π

2π

https://dl.doubtnut.com/l/_2OgJOHxt4zkO
https://dl.doubtnut.com/l/_WfWfku3Q8RC5


64. The greater of  is

A. 

B. 

C. nothing can be said

D. both are equal

Answer: A

Watch Video Solution

∫
π / 2

0

dx and
sinx

x

π

2

π

2

∫
π / 2

0

dx
sinx

x

https://dl.doubtnut.com/l/_WfWfku3Q8RC5
https://dl.doubtnut.com/l/_TkTI8f5j1tMC


65. Evaluate :  

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(i)∫
π / 2

0

dx
cos x

(cos. + sin. )x

2
x

2

(ii)∫
π / 2

0
dx

cos x

(1 + cos x + sinx)

+ log √2
π

2

− log √2
π

2

+ log √2
π

4

− log √2
π

4

66. ∫
π / 2

π / 4
dθ =

cos θ

(cos( ) + sin( ))
3

θ

2
θ

2

https://dl.doubtnut.com/l/_C6NLLEOvKRCy
https://dl.doubtnut.com/l/_BWKk647sBabW


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+ √2
2

cos( ) + sin( )π

8
π

8

+ √2
−2

cos( ) + sin( )π

8
π

8

− √2
2

cos( ) + sin( )π

8
π

8

− √2
−2

cos( ) + sin( )π

8
π

8

67. 

A. 

B. 

∫
π / 2

0

dθ =
sin2 θ

(1 + cos θ)2

+ 2
π

2

− 2
π

2

https://dl.doubtnut.com/l/_BWKk647sBabW
https://dl.doubtnut.com/l/_N2mZQdt9VsHV


C. 

D. 

Answer: C

Watch Video Solution

2 −
π

2

−2 −
π

2

68. 

A. 

B. 

C. 

D. 

Answer: C

∫
π / 4

0

dx
tan3 x

(1 + cos 2x)

1

2

1

4

1

8

1

16

https://dl.doubtnut.com/l/_N2mZQdt9VsHV
https://dl.doubtnut.com/l/_ONHBT1FqmtbD


Watch Video Solution

69. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π / 2

0

dx =
cos x

3 cos x + sinx

− log 3
3π

10

1

10

+ log 3
3π

10

1

10

− log 3
3π

20

1

10

+ log 3
3π

20

1

10

70. ∫
π / 2

0

(√tanx + √cot x)dx

https://dl.doubtnut.com/l/_ONHBT1FqmtbD
https://dl.doubtnut.com/l/_iWAoA7fp1hZe
https://dl.doubtnut.com/l/_ObeKIWMSPnVv


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√2π

2π

π

√2

π

2

71. 

A. 

B. 

C. 1

∫
3

1
dx

cos(logx)

x

cos(log 3)

sin(log 3)

https://dl.doubtnut.com/l/_ObeKIWMSPnVv
https://dl.doubtnut.com/l/_GmSTwfpmdftu


D. 

Answer: B

Watch Video Solution

π

4

72. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π / 2

0

sin3 x cos3 x  dx =

1

12

1

24

1

3

1

6

https://dl.doubtnut.com/l/_GmSTwfpmdftu
https://dl.doubtnut.com/l/_6gLDxq5CKYdx


73. 

A. 

B. 

C. 0

D. 

Answer: A

Watch Video Solution

∫
π / 2

0

sin2 x cos3 x  dx =

2

15

1

15

∞

74. ∫
0

√sinϕ cos5 ϕdϕ

π

2

https://dl.doubtnut.com/l/_6gLDxq5CKYdx
https://dl.doubtnut.com/l/_slwyOVPRIYEq
https://dl.doubtnut.com/l/_CffTNGng8VSO


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

32

321

64
321

8

321

16

321

75. 

A. 

B. 

C. 

∫
π / 2

0
√cos x sin3 x  dx =

4
21

10

21

8

21

https://dl.doubtnut.com/l/_CffTNGng8VSO
https://dl.doubtnut.com/l/_UHcrICaZsbIr


D. 

Answer: C

Watch Video Solution

20

21

76. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π

0

sin3 x(1 + 2 cos x)(1 + cos x)2
dx

8

3

−8

3

4
3

−4
3

https://dl.doubtnut.com/l/_UHcrICaZsbIr
https://dl.doubtnut.com/l/_iq5g9yKJ2Z77


77. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π / 4

0

sec4 xdx =

2 + √2

3

2 − √2

3

2 + 2√2

3

2 − 2√2

3

78. ∫
π / 4

0

sec4 x  dx =

https://dl.doubtnut.com/l/_iq5g9yKJ2Z77
https://dl.doubtnut.com/l/_0oUXvRnDBRBv
https://dl.doubtnut.com/l/_WOYtf7kFyMJ7


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2

3

−2

3

4
3

−4
3

79. 

A. 

B. 

C. 

∫
π / 2

0

dx =
cos x

1 + sin2 x

−π

2

π

2

−π

4

https://dl.doubtnut.com/l/_WOYtf7kFyMJ7
https://dl.doubtnut.com/l/_hSFErnGmdICZ


D. 

Answer: D

Watch Video Solution

π

4

80. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π / 2

0

dx =
sinx

1 + cos2 x

−π

2

π

2

−π

4

π

4

https://dl.doubtnut.com/l/_hSFErnGmdICZ
https://dl.doubtnut.com/l/_xXzmySYXNmXh


81. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π / 2

0

dx =
sinx cos x

1 + sin4 x

π

8

−π

8

π

4

−π

4

82. Evaluate the following : 

∫
π / 4

0
dx

sec2 x

tan2 x + 4 tanx + 1

https://dl.doubtnut.com/l/_xXzmySYXNmXh
https://dl.doubtnut.com/l/_3cncVo4dijLV
https://dl.doubtnut.com/l/_qevxGkR2abII


Watch Video Solution

83. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π

0

=
dx

1 − 2a cos x + a2

π

2 − 2a2

π

1 − a2

2π(1 − a2)

π(1 − a2)

84. ∫
π / 4

0

dx =
sin 2x

sin4 x + cos4 x

https://dl.doubtnut.com/l/_qevxGkR2abII
https://dl.doubtnut.com/l/_BNub9X3qXSwV
https://dl.doubtnut.com/l/_PzrsCs0Pks4m


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

π

2

π

4

3π

2

3π

4

85. 

A. 

B. 

C. 

∫
π / 2

0

dx =
1 + 2 cos x

(2 + cos x)2

π

2

π

2

https://dl.doubtnut.com/l/_PzrsCs0Pks4m
https://dl.doubtnut.com/l/_ZIDqkle7xKQZ


D. 

Answer: D

Watch Video Solution

1

2

86. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
3π / 4

π / 4
=

dx

(sinx − 2 cos x)(2 sinx + cos x)

log 3
1

5

log 9
1

5

5 log 3

5 log 9

https://dl.doubtnut.com/l/_ZIDqkle7xKQZ
https://dl.doubtnut.com/l/_533zcYEp6X75


87. If 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

In = ∫
π / 4

0
tann θ  dθ, then I8 + I6 =

1

4

1

5

1

6

1

7

88. ∫
0

dx

π

4 sinx + cos x

9 + 16 sin 2x

https://dl.doubtnut.com/l/_533zcYEp6X75
https://dl.doubtnut.com/l/_qb67WiTtPizL
https://dl.doubtnut.com/l/_FyHQjvNnuZ0j


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

log 3
1

10

log 3
1

20

log 5
1

10

log 5
1

20

89. Evaluate the following : 

A. 

B. 

∫
π / 2

0

dx
1

5 + 4 cos x

tan− 1 3
1

3

tan− 1 3
2

3

https://dl.doubtnut.com/l/_FyHQjvNnuZ0j
https://dl.doubtnut.com/l/_bUhzWLYP37rQ


C. 

D. 

Answer: D

Watch Video Solution

tan− 1( )
1

3

1

3

tan− 1( )
2

3

1

3

90. 

A. 

B. 

C. 

D. 

Answer: D

∫
π / 2

0

=
dx

5 + 4 sinx

tan− 1 3
1

3

tan− 1 3
2

3

tan− 1( )
1

3

1

3

tan− 1( )
2

3

1

3

https://dl.doubtnut.com/l/_bUhzWLYP37rQ
https://dl.doubtnut.com/l/_o3CwmksIvAjI


Watch Video Solution

91. 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

∫
π / 2

0

=
dx

4 cos x + 9 sinx

log( )
1

√97

13 − √97

13 + √97

log( )
1

√97

13 + √97

13 − √97

log( )
1

2√97

13 − √97

13 + √97

log( )
1

2√97

13 + √97

13 − √97

https://dl.doubtnut.com/l/_o3CwmksIvAjI
https://dl.doubtnut.com/l/_FGVyrNyiKZXv


92. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π

0

=
dx

3 + 2 sinx + cos x

−π

2

π

2

−π

4

π

4

93. 

A. 

∫
π

0
dx

x

a2 cos2 x + b2 sin2 x

πab

https://dl.doubtnut.com/l/_VRkQUq7LWttq
https://dl.doubtnut.com/l/_aXpJW9V68m3w


B. 

C. 

D. 

Answer: D

Watch Video Solution

2πab

π

ab

π2

2ab

94. 

A. 

B. 

C. 

D. 

∫
π / 2

π / 6

cosec x cot x

1 + cosec2x

−tan− 1( )
1

3

tan− 1( )
1

3

−tan− 1 3

tan− 1 3

https://dl.doubtnut.com/l/_aXpJW9V68m3w
https://dl.doubtnut.com/l/_ydahQYIb46uF


Answer: B

Watch Video Solution

95. If 

for 

A. 

B. 

C. 0

D. 1

Answer: B

W t h Vid S l ti

f(x) = tanx − tan3 x + tan5 x − tan7 x + ...∞

o < x < , than∫
π / 4

0

f(x)dx =
π

4

1

2

1

4

https://dl.doubtnut.com/l/_ydahQYIb46uF
https://dl.doubtnut.com/l/_5aYWe32OXsFI


Watch Video Solution

96. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
1

0

dx =
√tan− 1 x

1 + x2

π√π

4

π√π

3

π√π

12

π√π

6

97. ∫
2

1

dx

x(1 + logx)2

https://dl.doubtnut.com/l/_5aYWe32OXsFI
https://dl.doubtnut.com/l/_nEX4R3CYiPed
https://dl.doubtnut.com/l/_FGDuXCHFNHr0


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2(1 + log 2)

log 2

2 log 2

1 + log 2

1 + log 2

log 2

log 2

1 + log 2

98. The value of the integral 

A. 

B. 

C. 

∫
log 5

0

dx
ex√ex − 1

ex + 3

4 − π

4 + π

2 − π

https://dl.doubtnut.com/l/_FGDuXCHFNHr0
https://dl.doubtnut.com/l/_30RlvUH5pgDO


D. 

Answer: A

Watch Video Solution

2 + π

99. If  and 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

I1 = ∫
e2

e

dx

lnx
I2 = ∫

2

1

dx
ex

x

I1 + I2

I1 > I2

I1 < I2

I1 = I2

https://dl.doubtnut.com/l/_30RlvUH5pgDO
https://dl.doubtnut.com/l/_gkwoaOXvLXNh


100. 

A. 0

B. 

C. 

D. 1

Answer: D

Watch Video Solution

∫
π / 2

0
x sinxdx =

−1

±1

101. ∫
π / 2

0
x cos x  dx =

https://dl.doubtnut.com/l/_gkwoaOXvLXNh
https://dl.doubtnut.com/l/_hasBYUczTyqt
https://dl.doubtnut.com/l/_pQKjfkuVbFF3


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

− 2
π

2

+ 2
π

2

− 1
π

2

+ 1
π

2

102. 

A. 

B. 

C. 

∫
π / 4

0

x sec2 x  dx =

− log 2
π

4

− iog2
π

2

− log √2
π

4

https://dl.doubtnut.com/l/_pQKjfkuVbFF3
https://dl.doubtnut.com/l/_ViKfTfR4yIGc


D. 

Answer: C

Watch Video Solution

− log √2
π

2

103. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π / 4

0

x2 sinx  dx =

√2 + 2 + +
π

2√2

π2

16√2

√2 + 2 − +
π

2√2

π2

16√2

√2 − 2 + +
π

2√2

π2

16√2

√2 − 2 + −
π

2√2

π2

16√2

https://dl.doubtnut.com/l/_ViKfTfR4yIGc
https://dl.doubtnut.com/l/_yOsHPfPw65Tg


104. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π / 2

0

x2 sinx  dx =

π + 2

π − 2

+ 1
π

2

− 1
π

2

105.  is equal to∫
π / 6

0

(2 + 3x2)cos 3xdx

https://dl.doubtnut.com/l/_yOsHPfPw65Tg
https://dl.doubtnut.com/l/_2fxvPJIm2Sd0
https://dl.doubtnut.com/l/_NpM4U5H9F5Y9


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−
4
9

π2

18

+
4
9

π2

18

−
4
9

π2

36

+
4
9

π2

36

106. 

A. 

B. 

C. 

∫
2

0
xe2dx =

e2 − 1

e − 1

e2 + 1

https://dl.doubtnut.com/l/_NpM4U5H9F5Y9
https://dl.doubtnut.com/l/_m7kGAYNB9GpX


D. 

Answer: C

Watch Video Solution

e + 1

107. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
2π

0

ex( + )dx =
x

2

π

4

√2

2√2

e2π( − ) + −
5π

4

1

2

1

2

π

4

e2π( − ) + +
5π

4

1

2

1

2

π

4

https://dl.doubtnut.com/l/_m7kGAYNB9GpX
https://dl.doubtnut.com/l/_0FgP17wY9Jya


108. Evaluate the following definite integral: 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
2

1
logx dx

2 log 2 − 1

2 log 2 + 1

2 log 2 − 2

2 log 2 + 2

109. ∫
e

1

log(x)dx =

https://dl.doubtnut.com/l/_0FgP17wY9Jya
https://dl.doubtnut.com/l/_oI9QsTjcYPSe
https://dl.doubtnut.com/l/_Tm8dWub6kkna


A. 1

B. e

C. 

D. 

Answer: A

Watch Video Solution

e − 1

1 − e

110. Evaluate: 

A. 

B. 

C. 

∫
2

1
dx

logx

x2

log( )
1

2

2

e

log( )
1

2
e

2

2 log( )
2

e

https://dl.doubtnut.com/l/_Tm8dWub6kkna
https://dl.doubtnut.com/l/_FbPFJg9mIHUG


D. 

Answer: B

Watch Video Solution

2 log( )
e

2

111. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
3

1
x3 logxdx =

3 log −
26

3

3 log 3 −
26

9

9 log 3 −
26

3

9 log 3 −
26

9

https://dl.doubtnut.com/l/_FbPFJg9mIHUG
https://dl.doubtnut.com/l/_42a7WrL2CTiL


112. Evaluate :


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
2π

0
ex cos( + )dx

π

4

x

2

(e2π − 1)
−√2

5

(e2π − 1)
√2

5

(e2π + 1)
−√2

5

(e2π + 1)
√2

5

113. integrate ∫
2π

0
ex. sin( + )dx

π

4

x

2

https://dl.doubtnut.com/l/_42a7WrL2CTiL
https://dl.doubtnut.com/l/_Bl4Hg94Q0VDl
https://dl.doubtnut.com/l/_on1Zz3Pqg6hn


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(e2π − 1)
−3√2

5

(e2π − 1)
3√2

5

(e2π + 1)
−3√2

5

(e2π + 1)
3√2

5

114. 

A. 

B. 

C. 

∫
π / 2

π / 4
cos 2x log sinx  dx =

log 2 − +
1

4

π

8

1

4

log 2 + −
1

4

π

8

1

4

log 2 − −
1

4

π

8

1

4

https://dl.doubtnut.com/l/_on1Zz3Pqg6hn
https://dl.doubtnut.com/l/_p9eY7SUmBwDU


D. 

Answer: A

Watch Video Solution

log 2 + +
1

4

π

8

1

4

115. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π

0

ex sin 2xdx =

(1 − eπ)
2

5

(eπ− 1)
2

5

(1 − eπ)
1

5

(eπ − 1)
1

5

https://dl.doubtnut.com/l/_p9eY7SUmBwDU
https://dl.doubtnut.com/l/_Ka2KfhPQHlvC


116. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π / 2

0

ex cos x  dx =

(1 − e )
1

2

π

2

(e − 1)
1

2

π

2

1 − e
π

2

e − 1
π

2

117. ∫
1

0
x tan− 1 x  dx =

https://dl.doubtnut.com/l/_Ka2KfhPQHlvC
https://dl.doubtnut.com/l/_2Htjin3uL0Yi
https://dl.doubtnut.com/l/_CYApYMzTCg6W


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+
π

4

1

2

−
π

4

1

2

−
1

2

π

4

−
−π

4

1

2

118. 

A. 

B. 

C. 3

∫
1

0
x3 tan− 1 x  dx =

1

3

1

6

https://dl.doubtnut.com/l/_CYApYMzTCg6W
https://dl.doubtnut.com/l/_fQlDm6iY12N0


D. 6

Answer: B

Watch Video Solution

119. If  dx = p , then the value of 

 dx is

A. 

B. 

C. 

D. 

Answer: A

∫
1

0
tan− 1 x

∫
1

0
tan− 1( )

1 − x

1 + x

π

−p

+ p
3π

4

−
π

4

p

2

+
3π

4

p

2

https://dl.doubtnut.com/l/_fQlDm6iY12N0
https://dl.doubtnut.com/l/_JJ19mhEDgy8Z


Watch Video Solution

120. Evaluate the following : 

A. 

B. 

C. 

D. 2

Answer: B

Watch Video Solution

∫
1

0
ex

2
. x3dx

−1

2

1

2

−2

https://dl.doubtnut.com/l/_JJ19mhEDgy8Z
https://dl.doubtnut.com/l/_O4kw44lMSA3M


121. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
1

0
(cos − 1 x)

2
dx

+ 1
π

2

− 1
π

2

π + 2

π − 2

122. 

A. 

∫
1

0

dx =
x(sin− 1 x)

2

√1 − x2

π − 2

https://dl.doubtnut.com/l/_mWLUVBtk1Zfi
https://dl.doubtnut.com/l/_dV7gOyGCHE6m


B. 

C. 

D. 

Answer: A

Watch Video Solution

2 − π

2π − 2

2 − 2π

123. 

A. 

B. 

C. 

D. 

∫
1 / √2

0
dx = ?

sin− 1 x

(1 − x2)3 / 2

+ log 2
π

4

1

2

− log 2
π

4

1

2

+ log 2
π

2

1

4

− log 2
π

2

1

4

https://dl.doubtnut.com/l/_dV7gOyGCHE6m
https://dl.doubtnut.com/l/_DayWH0tp3pmE


Answer: B

Watch Video Solution

124. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
1

0
sin− 1( )dx

2x

1 + x2

+ 2 log 2
π

2

− 2 log 2
π

2

+ log 2
π

2

− log 2
π

2

https://dl.doubtnut.com/l/_DayWH0tp3pmE
https://dl.doubtnut.com/l/_v1i76Vub41GC
https://dl.doubtnut.com/l/_PnBVfu652go9


125. Evaluate the following : 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
1

0
tan− 1( )dx

2x

1 − x2

− log 2
π

2

− log 2
π

4

− log √2
π

2

− log √2
π

4

126. 

A. 

∫
1

0

tan− 1( )dx =
x

√1 − x2

− 1
π

2

https://dl.doubtnut.com/l/_PnBVfu652go9
https://dl.doubtnut.com/l/_cMMltYsnrOI7


B. 

C. 

D. 

Answer: A

Watch Video Solution

1 −
π

2

− 2
π

2

2 −
π

2

127. Evaluate: 

A. 

B. 

C. 

D. 

∫
1

0
dx

xtan− 1x

(1 + x2)3 / 2

4 − π

2√2

4 + π

2√2

4 − π

4√2

4 + π

4√2

https://dl.doubtnut.com/l/_cMMltYsnrOI7
https://dl.doubtnut.com/l/_9blSvKAZp0C3


Answer: C

Watch Video Solution

128. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π / 2

0

sin 2x tan− 1(sinx)dx =

− 1
π

2

1 −
π

2

− 1
π

4

1 −
π

4

https://dl.doubtnut.com/l/_9blSvKAZp0C3
https://dl.doubtnut.com/l/_VyIx0ikfrt1y
https://dl.doubtnut.com/l/_QXEmECV7sFcy


129. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
2

1
ex( − )dx =

1

x

1

x2

+ e
e2

2

− e
e2

2

e −
e2

2

−e −
e2

2

130. Evaluate the following definite integral:

A. 

∫
2

1
e2x( − )dx

1

x

1

2x2

( − 1)
e2

2
e2

2

https://dl.doubtnut.com/l/_QXEmECV7sFcy
https://dl.doubtnut.com/l/_YhEk4pa3szTm


B. 

C. 

D. 

Answer: A

Watch Video Solution

(1 − )
e2

2
e2

2

( − 1)
e2

4
e2

2

(1 − )
e2

4
e2

2

131. 

A. 

B. 

C. 

D. 

∫
π / 4

0

ex(1 + tanx + tan2 x)dx =

−e
π

4

e
π

4

−4e
π

4

4e
π

4

https://dl.doubtnut.com/l/_YhEk4pa3szTm
https://dl.doubtnut.com/l/_epl3K1IfPr4n


Answer: B

Watch Video Solution

132. Evaluate the following : 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π

π / 2

ex( )dx.
1 − sinx

1 − cos x

−eπ

eπ

−e
π

2

e
π

2

https://dl.doubtnut.com/l/_epl3K1IfPr4n
https://dl.doubtnut.com/l/_iuW29OdaEXul


133. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
e2

e

( − )dx =
1

logx

1

(logx)
2

e(e − 1)

2

−e(e − 1)

2

e(e − 2)

2

−e(e − 2)

2

134. 

A. 

∫
π / 2

1
(sin(logx) + cos(logx))dx =

−π cos(log( ))
π

2

https://dl.doubtnut.com/l/_iuW29OdaEXul
https://dl.doubtnut.com/l/_i1jZakXRfgjf
https://dl.doubtnut.com/l/_VX4LkH2A6ySW


B. 

C. 

D. 

Answer: D

Watch Video Solution

π cos(log( ))
π

2

− sin(log( ))
π

2

π

2

sin(log( ))
π

2

π

2

135. 

A. 

B. 

C. 

D. 

∫
10

5
=

dx

(x − 1)(x − 2)

log( )
32

9

log( )
9

32

log( )
32

27

log( )
27

32

https://dl.doubtnut.com/l/_VX4LkH2A6ySW
https://dl.doubtnut.com/l/_V2lyUH50KxPY


Answer: C

Watch Video Solution

136. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
2

1
=

dx

(x + 1)(x + 3)

log( )
1
2

6

5

log( )
1
2

5

6

log( )
1
2

3

5

log( )
1
2

5

3

https://dl.doubtnut.com/l/_V2lyUH50KxPY
https://dl.doubtnut.com/l/_frpUqGlYtH2A
https://dl.doubtnut.com/l/_JS3dYJb9IdPG


137. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
3

2

dx =
x

(x + 2)(x + 3)

log( )
1728
3125

log( )
3456
3125

log( )
1728
625

log( )
3456
625

138. Evaluate :


A. 

∫
2

1
dx

x + 3

x(x + 2)

2 log 3

https://dl.doubtnut.com/l/_JS3dYJb9IdPG
https://dl.doubtnut.com/l/_pA8lpwcdS1zw


B. 

C. 

D. 

Answer: D

Watch Video Solution

2 log 6

log 3
1

2

log 6
1

2

139. 

A. 

B. 

C. 

D. 

∫
3

1
=

dx

x(1 + x2)

log( )
1

2

5

9

log( )
1

2

9

5

log( )
1

2

10

9

log( )
1

2

9

10

https://dl.doubtnut.com/l/_pA8lpwcdS1zw
https://dl.doubtnut.com/l/_dn5ubVbe2Mfc


Answer: B

Watch Video Solution

140. If 

 then

A. 

B. 

C. 

D. 

Answer: D

h id l i

∫
∞

0
dx

x2

(x2 + a2)(x2 + b2)(x2 + c2)

= ,
π

2(a + b)(b + c)(c + a)

∫
∞

0
=

dx

(x2 + 25)(x2 + 36)

π

440

π

550

π

330

π

660

https://dl.doubtnut.com/l/_dn5ubVbe2Mfc
https://dl.doubtnut.com/l/_xA5fxLRQ95VP


Watch Video Solution

141. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π / 2

0

dx =
cos x

(1 + sinx)(2 + sinx)

log( )
2

3

log( )
3

2

log( )
4
3

log( )
3

4

142. ∫
π / 2

0

dx =
cos x

(4 + sinx)(3 + sinx)

https://dl.doubtnut.com/l/_xA5fxLRQ95VP
https://dl.doubtnut.com/l/_NlzN52ANSigw
https://dl.doubtnut.com/l/_Mc3fotYMAjZW


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

log( )
16

15

log( )
15

16

log( )
4
15

log( )
15

4

143. 

A. 

B. 

C. 

∫
π / 2

π / 3
=

dx

sinx + sin 2x

log 2 − log 3
2

3

1

2

log 2 − log 3
4

3

1

2

log 2 − log 3
2

3

3

2

https://dl.doubtnut.com/l/_Mc3fotYMAjZW
https://dl.doubtnut.com/l/_wsufM64TLcz4


D. 

Answer: B

Watch Video Solution

log 2 − log 3
4
3

3

2

144. Evaluate the following : 

A. 

B. 

C. 

D. 

Answer: B

∫
π / 4

0

dx
sec2 x

(1 + tanx)(2 + tanx)

log( )
3

4

log( )
4
3

log( )
3

2

log( )
2

3

https://dl.doubtnut.com/l/_wsufM64TLcz4
https://dl.doubtnut.com/l/_O5Qhm10HQ0Nf


Watch Video Solution

145. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π / 2

0

dx =
sinx cos x

(1 + 2 sinx)(1 + sinx)

log( )
1

2

3

4

log( )
1

2
4
3

log( )
1

2

3

2

log( )
1

2

2

3

146. If , then f(a + b − x) = f(x) ∫
b

a

xf(x)dx =

https://dl.doubtnut.com/l/_O5Qhm10HQ0Nf
https://dl.doubtnut.com/l/_ObGHCNaGdimg
https://dl.doubtnut.com/l/_dumKdxwaIT3C


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
b

a

f(b − x)dx
a + b

2

∫
b

a

f(x)dx
a + b

2

∫
b

a

f(x)dx
b − a

2

∫
b

a

f(b − x)dx
b − a

2

147. If  


 then k =

A. 

B. 

∫
π

0

xf(cos2 x + tan4 x)dx

= k∫
π / 2

0

f(cos2 x + tan4 x)dx

π

2

π

4

https://dl.doubtnut.com/l/_dumKdxwaIT3C
https://dl.doubtnut.com/l/_ERyXD6x4Y0EH


C. 

D. 1

Answer: C

Watch Video Solution

π

148. 

A. 

B. 

C. 

D. 

Answer: B

∫
a

0
(f(a + x) + f(a − x))dx =

2∫
2a

0
f(x)dx

∫
2a

0
f(x)dx

2∫
a

0
f(x)dx

∫
a

0
f(x)dx

https://dl.doubtnut.com/l/_ERyXD6x4Y0EH
https://dl.doubtnut.com/l/_ropicVrgdz2O


Watch Video Solution

149. If

where  are constants then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
3

0
(3ax2 + 2bx + c)dx = ∫

3

1
(3ax2 + 2bx + c)dx

a, b, c a + b + c =

a + b + c = 0

a + b + c = 1

a + b + c = 2

a + b + c = 3

https://dl.doubtnut.com/l/_ropicVrgdz2O
https://dl.doubtnut.com/l/_SAHs9vAKPJY9
https://dl.doubtnut.com/l/_2LfcafqkvVP4


150. Prove that 

.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
b

a

dx =
f(x)

f(x) + f(a + b − x)

b − a

2

b − a

2

b − a

4

b + a

2

b + a

4

151. ∫
2

1
dx =

√x

√3 − x + √x

https://dl.doubtnut.com/l/_2LfcafqkvVP4
https://dl.doubtnut.com/l/_FAVUFbLLIFS6


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−1

2

1

2

3

2

−3

2

152. 

A. 

B. 

C. 

∫
7

2

dx =
√x

√x + √9 − x

9

2

−9

2

5

2

https://dl.doubtnut.com/l/_FAVUFbLLIFS6
https://dl.doubtnut.com/l/_kEqkrKE2hQ8W


D. 

Answer: C

Watch Video Solution

−5

2

153. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
7

4
dx =

(11 − x)
2

x2 + (11 − x)
2

−11

2

11

2

−3

2

3

2

https://dl.doubtnut.com/l/_kEqkrKE2hQ8W
https://dl.doubtnut.com/l/_viass2aj7M3z


Watch Video Solution

154. 

A. 

B. 0

C. 

D. 

Answer: B

Watch Video Solution

∫
π / 2

0

sin2 x cos3 x  dx =

π

π

2

π

4

155. ∫
π / 2

0

dx =
sinx − cos x

1 − sinx cos x

https://dl.doubtnut.com/l/_viass2aj7M3z
https://dl.doubtnut.com/l/_NpcLsqpSMT1h
https://dl.doubtnut.com/l/_Syncm2g0VU6A


A. 

B. 

C. 

D. 0

Answer: D

Watch Video Solution

π

2

3π

2

π

156. 

A. 0

B. 

C. 

∫
0

dx

π

2 sinx − cos x

1 + sinx cos x

π

π

4

https://dl.doubtnut.com/l/_Syncm2g0VU6A
https://dl.doubtnut.com/l/_yH4qFNS2My3P


D. 

Answer: A

Watch Video Solution

π

2

157. 

A. 0

B. 2

C. 

D. 

Answer: A

Watch Video Solution

∫
2π

0

dθ =
sin 2θ

a − b cos 2θ

π

4

π

2

https://dl.doubtnut.com/l/_yH4qFNS2My3P
https://dl.doubtnut.com/l/_6C4VopPH1jeI


158. 

A. 0

B. 2

C. 

D. 

Answer: C

Watch Video Solution

∫
π / 2

0

cos2 θdθ =

π

4

π

2

159. The value of the integral

 is∫
π / 2

0

(sin100 x − cos100 x)dx

https://dl.doubtnut.com/l/_6C4VopPH1jeI
https://dl.doubtnut.com/l/_BZ2v1lytmwgh
https://dl.doubtnut.com/l/_U4vOzw6K3I1D


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1

100

100

(100)100

π

100

0

160. 

A. 

B. 

C. 

∫
π / 2

0

dx =
sinx

sinx + cos x

π

4

π

2

3π

4

https://dl.doubtnut.com/l/_U4vOzw6K3I1D
https://dl.doubtnut.com/l/_3vxTn30wO33K


D. 

Answer: A

Watch Video Solution

3π

2

161. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
3 π

10

π

5

sinx

(sinx + cos x)dx

3π

4

π

10

π

5

π

20

https://dl.doubtnut.com/l/_3vxTn30wO33K
https://dl.doubtnut.com/l/_3fvhToAQ2aGs


162. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π / 2

0

dx =
√sinx

√sinx + √cos x

3π

2

3π

4

π

2

π

4

163. Evaluate : ∫
0

π

2 dx

1 + √tanx

https://dl.doubtnut.com/l/_3fvhToAQ2aGs
https://dl.doubtnut.com/l/_NB4UkUHTlpDq
https://dl.doubtnut.com/l/_AHRfO22kbsAV


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3π

2

3π

4

π

2

π

4

164. Evaluate the following : 

A. 

B. 

∫
π / 3

π / 6
dx

1

1 + √cot x

π

12

π

24

https://dl.doubtnut.com/l/_AHRfO22kbsAV
https://dl.doubtnut.com/l/_CNFM7hAm1noK


C. 

D. 

Answer: A

Watch Video Solution

π

4

π

6

165. Evaluate the following : 

A. 

B. 

C. 

D. 

∫
π / 2

0

dx
3√secx

3√secx + 3√cosec x

π

2

3π

2

π

4

3π

4

https://dl.doubtnut.com/l/_CNFM7hAm1noK
https://dl.doubtnut.com/l/_uyK8acPBoLIq


Answer: C

Watch Video Solution

166. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π / 2

0

dx =
n√secx

n√secx + n√cosec x

π

2

π

3

π

4

π

6

https://dl.doubtnut.com/l/_uyK8acPBoLIq
https://dl.doubtnut.com/l/_OJKFRguZl7gM
https://dl.doubtnut.com/l/_5GC3boA9gVxK


167. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π / 2

0

dx =
ex

2

ex
2 +e

( − x)
2π

2

π

4

π

2

π2

e16

π2

e4

168. The
 integral 
 is

equal to:
(1) 2 (2) 4 (3) 1 (4) 6

∫
4

2

logx2

logx2 + log(36 − 12x + x2)dx

https://dl.doubtnut.com/l/_5GC3boA9gVxK
https://dl.doubtnut.com/l/_xxpFANMSTJgN


A. 1

B. 6

C. 2

D. 4

Answer: A

Watch Video Solution

169. 

A. 0

B. 1

C. 

∫
1

0
log( − 1)dx =

1

x

−1

https://dl.doubtnut.com/l/_xxpFANMSTJgN
https://dl.doubtnut.com/l/_SyJuzpIQ4VYU


D. 

Answer: A

Watch Video Solution

±1

170. 

A. 

B. 

C. 

D. 

Answer: C

∫
π / 2

0

dx =
cos x

(sinx + cos x)2

log( )
1

√2

√2 + 1

√2 − 1

log( )
1

√2

√2 − 1

√2 + 1

log( )
1

2√2

√2 + 1

√2 − 1

log( )
1

2√2

√2 − 1

√2 + 1

https://dl.doubtnut.com/l/_SyJuzpIQ4VYU
https://dl.doubtnut.com/l/_yRg8yTFVZRsV


Watch Video Solution

171. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π / 2

0

dx =
sinx

(sinx + cos x)2

log( )
1

2√2

√2 + 1

√2 − 1

log( )
1

2√2

√2 − 1

√2 + 1

log( )
1

√2

√2 + 1

√2 − 1

log( )
1

√2

√2 − 1

√2 + 1

172. ∫
π / 2

0
dx =

cos2 x

sinx + cos x

https://dl.doubtnut.com/l/_yRg8yTFVZRsV
https://dl.doubtnut.com/l/_LmeuQFfQLtZM
https://dl.doubtnut.com/l/_Hd2TTengJXba


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

log( )
1

2√2

√2 − 1

√2 + 1

log( )
1

2√2

√2 + 1

√2 − 1

log( )
1

√2

√2 − 1

√2 + 1

log( )
1

√2

√2 + 1

√2 − 1

173. 

A. 

B. 

C. 

∫
π / 2

0
dx =

sinx

(sinx + cos x)
3

1

4

−1

4

1

2

https://dl.doubtnut.com/l/_Hd2TTengJXba
https://dl.doubtnut.com/l/_oqzKtYF7ylgc


D. 

Answer: C

Watch Video Solution

−1

2

174. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π / 2

0

dx =
sinx

(sinx + cos x)2

π

2

π

4

1
2

1

4

https://dl.doubtnut.com/l/_oqzKtYF7ylgc
https://dl.doubtnut.com/l/_G2MAvJzhIja2


175. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
a

0

dx

x + √a2 − x2

π

2

π

4

3π

2

3π

4

176. Find the value of ∫
1

0
x(1 − x)

n
dx

https://dl.doubtnut.com/l/_G2MAvJzhIja2
https://dl.doubtnut.com/l/_P09KOoQg1apj
https://dl.doubtnut.com/l/_yjDxjxJA4zSw


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

n + 1

1

n + 2

−
1

n + 1

1

n + 2

+
1

n + 1

1

n + 2

177. Evaluate :


A. 

B. 

C. 

∫
1

0
x(1 − x)5

dx

1

42

13

42

1

6

https://dl.doubtnut.com/l/_yjDxjxJA4zSw
https://dl.doubtnut.com/l/_xiriGgfkRWWZ


D. 

Answer: A

Watch Video Solution

1

7

178. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
1

0
x2√1 − x2dx =

8

21

16

21

8

105

16

105

https://dl.doubtnut.com/l/_xiriGgfkRWWZ
https://dl.doubtnut.com/l/_iJl7iOebUz4S


179. Evaluate the following : 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
a

0

x2(a − x) dx.
3
2

a
8

315

9
2

a
16

315

9
2

a
8

315

5
2

a
16

315

5
2

180.  then f(x) = {
1 − 2x, for x ≤ 0

1 + 2x, for x > 0
∫

1

− 1

f(x)dx =

https://dl.doubtnut.com/l/_iJl7iOebUz4S
https://dl.doubtnut.com/l/_qJkBDMwik36V
https://dl.doubtnut.com/l/_YGA4JRDvLoOA


A. 4

B. 

C. 2

D. 

Answer: A

Watch Video Solution

−4

−2

181. If  then 


A. 

B. 3

∫
4

− 1
f(x)dx = 4 and ∫

4

2
(3 − f(x))dx = 7,

∫
2

− 1

f(x)dx =

−2

https://dl.doubtnut.com/l/_YGA4JRDvLoOA
https://dl.doubtnut.com/l/_FVIkEJ3dnLeU


C. 4

D. 5

Answer: D

Watch Video Solution

182. 

A. 1

B. 

C. 2

D. 0

Answer: A

∫
1

− 1
|x|dx = ?

−1

https://dl.doubtnut.com/l/_FVIkEJ3dnLeU
https://dl.doubtnut.com/l/_GDbubuvwbezt


Watch Video Solution

183. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
3

0
|x − 2|dx =

3
2

3

4

5
2

5

4

184. ∫
3

0

|5x − 3|dx =

https://dl.doubtnut.com/l/_GDbubuvwbezt
https://dl.doubtnut.com/l/_1mPBEIsBPZSN
https://dl.doubtnut.com/l/_P6KRUzkF1jjB


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−13

10

13

10

−13

5

13

5

185. 

A. 2

B. 4

C. 6

∫
2

− 2

∣∣1 − x2∣∣dx =

https://dl.doubtnut.com/l/_P6KRUzkF1jjB
https://dl.doubtnut.com/l/_dvc10s1imtTO


D. 8

Answer: B

Watch Video Solution

186. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π / 2

0

∣
∣sin(x − )∣

∣dx =
π

4

2 + √2

2 − √2

−2 + √2

−2 − √2

https://dl.doubtnut.com/l/_dvc10s1imtTO
https://dl.doubtnut.com/l/_OJiVNpP9zGvQ


187. 

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π / 2

0

|sinx − cos x|dx =

√2 − 1

2√2 − 2

2√2 + 2

188. ∫
2π

0

(sinx + |sinx|)dx =

https://dl.doubtnut.com/l/_OJiVNpP9zGvQ
https://dl.doubtnut.com/l/_fgnCTRMq5357
https://dl.doubtnut.com/l/_eCO3J9q17WIj


A. o

B. 1

C. 4

D. 8

Answer: C

Watch Video Solution

189. The value of the integral , is

A. 

B. 

C. 

e

∫

1 / e

|logx|dx

1 +
1

e

1 −
1

e

2 +
2

e

https://dl.doubtnut.com/l/_eCO3J9q17WIj
https://dl.doubtnut.com/l/_RH15acAkStnf


D. 

Answer: D

Watch Video Solution

2 −
2

e

190. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
1

− 1
e |x |dx

e + 1

e − 1

2e + 2

2e − 2

https://dl.doubtnut.com/l/_RH15acAkStnf
https://dl.doubtnut.com/l/_kLxnTOV07UVD


191. The integral 
 equal
 (1) 


(2) 
(3) 
(4) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π

0

√1 + 4 − 4 dx
sin2 x

2

sinx

2

π − 4 − 4 − 4√3
2π

3
4√3 − 4 4√3 − 4 −

π

3

π − 4

4√3 − 4

− 4 − 4√3
2π

3

4√3 − 4 −
π

3

https://dl.doubtnut.com/l/_kLxnTOV07UVD
https://dl.doubtnut.com/l/_ovXk7FqVxDBe


192. __________ where [x] is greatest integer

function

A. 3

B. 0

C. 2

D. 1

Answer: A

Watch Video Solution

∫
3

0
[x]dx =

193. ∫
π

0
x sin2

xdx =

https://dl.doubtnut.com/l/_RQyFwiViYhWJ
https://dl.doubtnut.com/l/_h8dw1dvZOfLn


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

π

2

π

4

π2

2

π2

4

194. Evaluate the following : 

A. 

B. 

∫
π

0

x sin3 xdx

4π
3

2π

3

https://dl.doubtnut.com/l/_h8dw1dvZOfLn
https://dl.doubtnut.com/l/_ljTPLqGA2MVN


C. 

D. 

Answer: B

Watch Video Solution

4π

2π

195. 

A. 

B. 

C. 

D. 

Answer: D

∫
0

sin2 x cos xdx

π

2

−2π

5

−π

5

2π

5

π

5

https://dl.doubtnut.com/l/_ljTPLqGA2MVN
https://dl.doubtnut.com/l/_LBOLLlbfXtbg


Watch Video Solution

196. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π

0

dx
x

a2 cos2 x + b2 sin2 x

π

2ab

π

4ab

π2

2ab

π2

4ab

https://dl.doubtnut.com/l/_LBOLLlbfXtbg
https://dl.doubtnut.com/l/_KMYRRgykIMN8


197. Evaluate the following : 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π

0

dx
x tanx

secxcosec x

π2

2

π2

4

π

2

π

4

198. ∫
π

0
dx = π( − 1)

x sinx

(1 + sinx)

π

2

https://dl.doubtnut.com/l/_d4XVSRubcF2W
https://dl.doubtnut.com/l/_hg7DvMhoAV5p


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+ π
π2

4

− π
π2

4

+ π
π2

2

− π
π2

2

199. Prove that .

A. 

B. 

C. 

∫
π

0

dx = π( − 1)
x tanx

(secx + tanx)

π

2

(π − 2)
π

2

(π − 2)
π

4

(π − 1)
π

2

https://dl.doubtnut.com/l/_hg7DvMhoAV5p
https://dl.doubtnut.com/l/_Vc7BIw0eZwKx


D. 

Answer: A

Watch Video Solution

(π − 1)
π

4

200. Evaluate the following : 

A. 

B. 

C. 

D. 

Answer: B

∫
π

0

dx
x tanx

secx + cos x

π2

2

π2

4

π

2

π

4

https://dl.doubtnut.com/l/_Vc7BIw0eZwKx
https://dl.doubtnut.com/l/_OokZ0OXi2Ckl


Watch Video Solution

201. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π

0
log(1 + cos x)dx = − π(log 2)

−π log 2

π log 2

log 2
π

2

log 2
−π

2

https://dl.doubtnut.com/l/_OokZ0OXi2Ckl
https://dl.doubtnut.com/l/_cy48b9JlYdcg


202. Prove that

.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π / 2

0

log(sinx)dx = ∫
π / 2

0

log(cos x)dx = − log 2
π

2

log 2
π

4

log 2
−π

4

log 2
π

2

log 2
−π

2

203. ∫
0

log(sinx)dx

π

2

https://dl.doubtnut.com/l/_cJsNaJ0kwqlF
https://dl.doubtnut.com/l/_VxizCEzZCFRK


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

log2−π

4

204. The value of  is

A. 

B. 

C. 

∫
π / 2

0

log(cosec x)dx

log 2
π

2

log 2
−π

2

log 2
π

4

https://dl.doubtnut.com/l/_VxizCEzZCFRK
https://dl.doubtnut.com/l/_TjAiY6z1UoCu


D. 

Answer: A

Watch Video Solution

log 2
−π

4

205. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π / 2

0

log(secx)dx =

log 2
−π

2

log 2
π

2

log 2
−π

4

log 2
π

4

https://dl.doubtnut.com/l/_TjAiY6z1UoCu
https://dl.doubtnut.com/l/_3xlK42Eourt2


206. If  then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π / 2

0

log cos xdx = log( ),
π

2

1

2

∫
π / 2

0
log secxdx =

log 2
π

2

log 2
−π

2

log 2
π

4

log 2
−π

4

https://dl.doubtnut.com/l/_3xlK42Eourt2
https://dl.doubtnut.com/l/_pwrGh2ehdQwx


207. The value of the integral  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1

∫

0

x log sin( )dx
πx

2

−log 2

log 2

log 2
−π

2

log2π

2

208. 

A. 

∫
π / 2

0

( )
2

dθ =
θ

sin θ

π

log 2

https://dl.doubtnut.com/l/_P4tkQq0FqG48
https://dl.doubtnut.com/l/_IjOecczRav0o


B. 

C. 

D. 

Answer: C

Watch Video Solution

log 2

π log 2

π

209. 

A. 0

B. 

C. 

D. 

∫
π / 2

0

log(tanx)dx =

π

π

2

π

4

https://dl.doubtnut.com/l/_IjOecczRav0o
https://dl.doubtnut.com/l/_kp2NmlfYLMgM


Answer: A

Watch Video Solution

210. 

A. 

B. 

C. 0

D. 

Answer: C

Watch Video Solution

∫
π / 2

0

log(cot x)dx =

π

4

π

2

π

https://dl.doubtnut.com/l/_kp2NmlfYLMgM
https://dl.doubtnut.com/l/_hKP9gpu28oG0
https://dl.doubtnut.com/l/_bg8znFlBvkfa


211. Evaluate 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
0

log(1 + tanx)dx

π

4

log 2
−π

8

log 2
−π

4

log 2
π

8

π

log 2

212. 

A. 

B. 

∫
π / 2

0

(2 log sinx − log sin 2x)dx =

log 2
π

2

− log 2
π

2

https://dl.doubtnut.com/l/_bg8znFlBvkfa
https://dl.doubtnut.com/l/_VLAR0H0XzivI


C. 

D. 

Answer: B

Watch Video Solution

log 2
π

4

log 2
−π

4

213. 

A. 0

B. 

C. 

D. 

Answer: C

∫
π / 2

0

sin 2x(tanx)dx =

π

π

2

π

4

https://dl.doubtnut.com/l/_VLAR0H0XzivI
https://dl.doubtnut.com/l/_KXrt6l3peRz9


Watch Video Solution

214. 

A. 0

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π / 2

0

log( )dx =
1 + sinx

1 + cos x

π

π

2

π

4

215. ∫
1

0

tan− 1( )dx =
2x − 1

1 + x − x2

https://dl.doubtnut.com/l/_KXrt6l3peRz9
https://dl.doubtnut.com/l/_smRW8vj6RufW
https://dl.doubtnut.com/l/_hakf0pi8fOht


A. 

B. 0

C. 1

D. 

Answer: B

Watch Video Solution

−1

±1

216. 

A. 

B. 

C. 

∫
π

0

x log sinxdx

log 2
−π2

2

log 2
π2

2

log 2
−π

2

https://dl.doubtnut.com/l/_hakf0pi8fOht
https://dl.doubtnut.com/l/_Og7WuiQfTZNu


D. 

Answer: A

Watch Video Solution

log 2
π

2

217. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
1

0
dx

log(1 + x)

1 + x2

log 2
π

2

log 2
π

4

log 2
π

8

log 2
π

16

https://dl.doubtnut.com/l/_Og7WuiQfTZNu
https://dl.doubtnut.com/l/_pITfNCtALFpU


218. The value of , is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∞

∫

0

dx
logx

1 + x2

log 2

−log 2

log 1

log 4

219. ∫
a

−a

=
dx

x + x3

https://dl.doubtnut.com/l/_pITfNCtALFpU
https://dl.doubtnut.com/l/_3CB2JIgZDq88
https://dl.doubtnut.com/l/_9qCO9GwW9mCE


A. 0

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
a

0

dx

1 + x6

2∫
a

0

dx

1 + x3

2∫
a

0

dx

x + x3

220. 

A. 

B. 

C. 

∫
1

− 1
dx =

x2

1 + x2

2 −
π

2

2 +
π

2

1 −
π

2

https://dl.doubtnut.com/l/_9qCO9GwW9mCE
https://dl.doubtnut.com/l/_J6Et8vcf5aeJ


D. 

Answer: A

Watch Video Solution

1 +
π

2

221. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
1 / 2

− 1 / 2
dx =

1 + x3

4 − x2

log( )
1

2

5

3

log( )
1

2

3

5

log( )
1

4

5

3

log( )
1

4

3

5

https://dl.doubtnut.com/l/_J6Et8vcf5aeJ
https://dl.doubtnut.com/l/_MgURAtaL2Nlq


222. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
1

− 1

dx =
1 + x3

9 − x2

log 2
2

3

log 2
1

6

log 2
1

3

log 2
3

2

223. ∫
1

− 1
(√1 + x + x2 − √1 − x + x2)dx =

https://dl.doubtnut.com/l/_MgURAtaL2Nlq
https://dl.doubtnut.com/l/_qz9H2IYOZMfE
https://dl.doubtnut.com/l/_aEqevVb6OK36


A. 0

B. 1

C. 

D. 2

Answer: A

Watch Video Solution

−1

224. 

A. 0

B. 9

C. 

∫
9

− 9
dx =

x3

4 − x2

−9

https://dl.doubtnut.com/l/_aEqevVb6OK36
https://dl.doubtnut.com/l/_LluitA4VPsG8


D. 18

Answer: A

Watch Video Solution

225. Evaluate: 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
a

−a

 √  dx 
a − x

a + x

−2aπ

2aπ

−aπ

aπ

https://dl.doubtnut.com/l/_LluitA4VPsG8
https://dl.doubtnut.com/l/_IvvB2dPQct2G


226. Evaluate:


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π / 4

π / 4

dx
x + π/4

2 − cos 2x

π2

3√3

π2

6√3

π

3√3

π

6√3

227.  is∫
π

−π

dx
2x(1 + sinx)

1 + cos2

https://dl.doubtnut.com/l/_IvvB2dPQct2G
https://dl.doubtnut.com/l/_fcQt3TCw28i1
https://dl.doubtnut.com/l/_O3IGhHcnJHUx


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

π

2π

π2

2π2

228. 

A. 0

B. 2

C. 

∫
π / 4

−π / 4
x3 sin4 xdx =

π

2

https://dl.doubtnut.com/l/_O3IGhHcnJHUx
https://dl.doubtnut.com/l/_WzwpkCPUoV24


D. 

Answer: A

Watch Video Solution

π

4

229. 

A. 

B. 

C. 0

D. 

Answer: C

Watch Video Solution

∫
π / 2

−π / 2
sin3 xdx =

π

4

π

2

π

https://dl.doubtnut.com/l/_WzwpkCPUoV24
https://dl.doubtnut.com/l/_7MFhMjmiHTHy


230. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π / 2

−π / 2
sin2 xdx

π

2

π

4

−
π

2
1

4

−
π

4

1
2

231. ∫
π / 2

−π / 2

dx =
sin4 x

sin4 x + cos4 x

https://dl.doubtnut.com/l/_7MFhMjmiHTHy
https://dl.doubtnut.com/l/_lSz0Egw9z4nE
https://dl.doubtnut.com/l/_Xyg01X0eTSMS


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

π

2

π

4

3π

2

3π

4

232. 

A. 

B. 

C. 

∫
π

−π

dx =
sin4 x

sin4 x + cos4 x

π

2π

π

2

https://dl.doubtnut.com/l/_Xyg01X0eTSMS
https://dl.doubtnut.com/l/_HFbj52XZFeR9


D. 

Answer: A

View Text Solution

3π

2

233. The value of  is

A. 

B. 

C. 0

D. 

Answer: C

Watch Video Solution

∫
π

−π

sin3 x cos2 xdx …..

π

4

π

2

π

https://dl.doubtnut.com/l/_HFbj52XZFeR9
https://dl.doubtnut.com/l/_VHUbvqYSNBqP


234. 

A. 

B. 

C. 0

D. 

Answer: C

View Text Solution

∫
π / 4

−π / 4

tan2 x sec(x)dx =

π

4

−π

4

π

2

235. ∫
π / 2

−π / 2

√ dx =
1 − cos 2x

2

https://dl.doubtnut.com/l/_VHUbvqYSNBqP
https://dl.doubtnut.com/l/_2ep6QLWjGmAK
https://dl.doubtnut.com/l/_J0Wj3pg7cmG1


A. 0

B. 2

C. 

D. 

Answer: A

Watch Video Solution

1

2

−1

2

236. 

A. 0

B. 1

C. 

∫
1 / 2

− 1 / 2
(cos x)log( )dx =

1 − x

1 + x

√e

https://dl.doubtnut.com/l/_J0Wj3pg7cmG1
https://dl.doubtnut.com/l/_U4FwLo9KLYLy


D. 

Answer: A

Watch Video Solution

2√e

237. Evaluate the following : 

A. 1

B. 3

C. 2

D. 0

Answer: D

∫
π / 2

−π / 2
log( )dx

2 − sinx

2 + sinx

https://dl.doubtnut.com/l/_U4FwLo9KLYLy
https://dl.doubtnut.com/l/_MsF2InT1dbdU


Watch Video Solution

238. 

A. 4

B. 

C. 8

D. 0

Answer: D

Watch Video Solution

∫
3

− 3
log( )dx =

9 − x

9 + x

−4

https://dl.doubtnut.com/l/_MsF2InT1dbdU
https://dl.doubtnut.com/l/_yxKZgByzL22w


239. The value

depends on the value of

A. p

B. q

C. r

D. 

Answer: C

Watch Video Solution

∫
2

− 2

(p log( ) + qlog( )
− 2

+ r)dx
1 + x

1 − x

1 − x

1 + x

p, q, r

240. Evaluate: ∫
π / 2

−π / 2
dx

cos x
1 + ex

https://dl.doubtnut.com/l/_OXqYxPK7cf9S
https://dl.doubtnut.com/l/_om6RMkU2rjEk


A. 0

B. 

C. 1

D. 

Answer: C

Watch Video Solution

−1

±1

241. If 

A. 1

B. 2

C. 

∫
α

0
(3x2 + 2x + 1)dx = 14,  then α =

−1

https://dl.doubtnut.com/l/_om6RMkU2rjEk
https://dl.doubtnut.com/l/_ggj2A010xp0m


D. -2

Answer: B

Watch Video Solution

242. If  then 

A. 

B. 

C. 

D. 

Answer: D

∫
π / 2

0

log(cos x)dx = log( ),
π

2

1

2

∫
π / 2

0
log(secx)dx =

log( )
π

2

1

2

1 − log( )
π

2

1

2

1 + log( )
π

2

1

2

log 2
π

2

https://dl.doubtnut.com/l/_ggj2A010xp0m
https://dl.doubtnut.com/l/_4FB8eizOynM6


Watch Video Solution

243. The Integral 
is
equal to:
(2)
(3)
(4)

A. 

B. 

C. 2

D. 4

Answer: C

Watch Video Solution

∫

3π
4

π

4

dx

1 + cos x

−1

−2

https://dl.doubtnut.com/l/_4FB8eizOynM6
https://dl.doubtnut.com/l/_4IgF3BHRoDxe

